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N The_rf. ave three Pc,saxb‘xe Lanctions &

" The value increases b Q Lfactorof 1.2
every \jear. > y= 52
D The value increases bj o -? ctor T 8
cVery Six years = SCSJ"
he value increases by « Toctor cﬁ:‘ q
every twelve YEQrs = \/_.5f_q)



7 Yhe inrhal value 1.85 C‘k)) doubles (b=2);
cVery al years (¢e=5).

EJCLLL&*L'.CH 5 \f Q 'b%

y=1 85(2)""
’:ﬁﬁ 2022 (><* D7) Tn 2022 +he
YE 185 ()% cac will ‘be
8¢ 1) wWogeth 8% ([
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98. P=4.22(2)"°

Using the written description only, the inial
‘u’alu‘z in 1990 (£=0) 1s H.22; the po pulaten
doubled (2); +he dcu,blinﬁ occurred aftec
lo years . ‘



99. Tnitial value» 300 (a)
Population doubled = 2 (b)
15minutes +o double = 195 (c)

¥
\ = ab % 4
= 300(2) \/'= BooC2)
Chestec’s Answer Rosalee’s Answer
Gin minutes) CGin hours)

The 2 Suncticns have Yhe same base (b=2)
because the pepalation is doubling, and -l-he}f
have the same inmihial Yolue (a=800) because
regardless oF +the units of +ime | theinhial
population $or the bacteria is 30 Jmm?

*Chester needed the resul\ting exponend o be
| When he subsktuted 1S min forx
'ﬁjia cmu\d@cg be acheved by uaa‘r:g an
exponent ¢F B0 s Function.

- R?émee needed the resuH-mB exponent

be | when She substitutred & For x-

This could f,:ar\\\} be achieved bd uamg
a0 Cxpgn&ﬁ't’ o Hx in hE‘f"FL.l'ntf‘ch

L Therefore . beth students are Correct |
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b3 +
3. P=13c0)*

Q) The initial concentration of bacteryq
WOSs 300 backena fem?.
b) T4 4akes 20min Sor the concenbration
)-Eo doulble. -
44 =
P= 300 (2)*
Th 50 minss
P= 3c0o (2);
= 3co (2) 7
= 1697 bacteria Jem?®
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3. al amount of carben=id *1.8m (l-::ﬂ

' Decays fo half i+s original masss /2 (b)

D750 yeors +o d&cuy ‘D\f halE> 5750 (¢)

) - : ﬂﬂlbt . o) o0
0)_Fquakion \ilza.a(‘fz)g% o8 \/‘-‘ZE(”'STL

——

b) T¢ +he £Kull weye 13000 NASSIE old ¢
[ sl w]

\ 5
N= 2.8('2)
= 0.66 mS



35 Tﬁ?ﬁ'l_ amount of nvestment + 81000 (o)
avestment doubles > 2 (b)
Doublmg Lime = 8 (c)

b
E: wotion s y=ab ¢ X
* ¥= 1000 (2)
Therefore , after M years t y = Icoo(z').%
g = lOOO(l} 2
!/= 81421

’J)l'm’}S (.\Sﬂump't\c'h wWal wWoeoen E{:Cuusc_
aftee 4 vears his (nvestment Will be
worth 8 414 .91,



ﬂBL;. rj—!"‘n‘rhﬂ.t poll':-uk&"*'fﬁnl‘-?ugﬁ@(}
HAfere Q d&\fﬂ = Dyoo

Common Ratio= 9900
3500
= 0.62806
I.
a) [:-,(Luﬂhun o N = 5
W - Gsoo(o 6286) y
b) Atter 4 dayss y=3500Co e:{&&;)%
N = = 3500 (0.62%6) %,
i 3500 (0.6 256)"
\} =[3%8 rilruci.s
QR Without the e uction §
Day 0 3300 $rogs
Doy 2 2200 f—mfl J X0 -ese

,DG\J q FWSE JXUELF’G

¢) After T days ¢ \f 3500 CO 618@)
= (6389 roas
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